#### Asha Darshan Trust (Assam) Support A Student Project Proposal – July 2018

Asha Trust has a decent portfolio of projects directly run by Asha Trust India members. Asha Assam/ Darsan is one such center at Tamulpur, Assam. Around ten schools are directly run among tribal communities by Asha Darshan Trust. Government schools are rare in these areas. The children have a troubled past, a past haunted by guns and violence. Those days are gone but challenges remain due to lack of opportunity, Government apathy, remoteness of North East and financial issues (including but not limited to regular attacks of Elephants to destroy crops).

Captured in this blog

https://padmanavasen.blogspot.com/2016/12/asha-diary-1-asha-darshan-schools.html

And this report here

https://ashadocserver.s3.amazonaws.com/284 Site Visit Nov 2016.pdf

Asha SV supports their main project. More details

### http://ashanet.org/project/?pid=284

However, there is a major need for supporting students after they go out of the Asha schools and we want to start this with four students from Asha schools. If it becomes successful, SV or other chapters can scale it.

These four students are selected considering both their financial situation and results (as well as willingness to continue studies). Their family are not asking for any money for food costs. Only education related expenses are listed.

- Padmanava Sen (Asha Bangalore) – Padmanava.sen@gmail.com

Total requested for Year 1 (April 2018 – March 2019)

Nakul Mandal - 37070

Nirmala Barman - 37070

Janaki Devi - 46070

Roshan Kharka - 56470

Total = 1,76,680

# Nakul Mandal- Kumarikata Higher Secondary School, Baksa district, 5 km from the village



Nakul Mandal first division in the recent HSLC Examination with 64% marks. He wants to study Arts courses in higher secondary but his father cannot bear the education cost of his education. The father is a wage laborer. He lost his mother in his childhood. A small support can make his dream a reality.

Monthly expense will be around Rs. 3090/-including travel cost, tuition fee, books and other college fees. We request support to his education. Nakul Mandal lives in Baksa district with his father Fatik Mandal. (He will study while staying at home)

#### Detail expenditure of education – Arts

Particular	Details	Amount
Books	One time	4000.00
Uniform	2 sets @ Rs. 1500/ each	3000.00
Tuition fee	2 subject 6 month @Rs. 2000/- each subject	24000.00
Magazine (with Q/A) related to education	Local and National	1470.00
Travelling	Rs. 20/- a day X 23 days a month 230 days	4600.00
Total amount -		37070.00

### Nirmala Barman - Kumarikata Higher Secondary School, Baksa district, 5 km from the village



Nirmala Barman has ranked first division in recent HSLC Examination with 61% marks. She lives with her mother and younger sister in a village in Baksa district, Assam. She wants to continue her study in Arts. However, the family is very weak economically, and mother is the only earning member in the family, cannot bear the education cost. A small support can make a big difference in Nirmala Barman's life.

We request support her education. Monthly expense will be around Rs. 3090/- including travel costs, tuition fee, books and other college fees. (She will study while staying at home)

### Detail expenditure of education – Arts

Particular	Details	Amount
Books	One time	4000.00
Uniform	2 sets @ Rs. 1500/ each	3000.00
Tuition fee	2 subject 6 month @Rs. 2000/- each subject	24000.00
Magazine (with Q/A) related to education	Local and National	1470.00
Travelling	Rs. 20/- a day X 23 days a month 230 days	4600.00
Total amount -		37070.00

## Janaki Devi- Nikashi Gyanpeeth Junior College, Baksa district, 35 km from the village

Janaki Devi is a 16-year old girl, lives with her parents and two younger siblings in a village of



Baksa district, Assam. She did very god in her study. In recent HSLC Examination, she ranked first division with 70% marks. She wanted to continue her further study in science stream. However, due to major logistic issues, she has to choose Arts. Her parents are happy with her success but at the same time sorry for unable to bear the cost of her education. The family is weak economically, depends on daily wage and her father is only earning member in the family.

A small support can make a big difference in Janaki Devi's life. Monthly expense will be around Rs. 3840/- including hostel charge, tuition fee, books and other college fees. (Due to the distance she will study while staying at hostel)

### Detail expenditure of education –Arts

Particular	Details	Amount
Books	One time	4000.00
Admission fee		1100.00
Uniform	2 sets @ Rs. 1750/ each	3500.00
Tuition fee	2 subject 6 month @Rs. 2000/- each subject	24000.00
Magazine (with Q/A)	Local and National	1470.00
related to education		
Hostel fee	Rs. 1200/ each month X10 month	12000.00
Total amount -		46070.00

### Roshan Kharka- Nikashi Model Academy, Baksa district, 35 km from the village



Roshan Kharka is a bright child, ranked first division with 70% marks in recent HSLC Examination. His father is a daily wage laborer, cannot bear the education cost of his higher education. Roshan wants to study commerce in higher secondary courses.

A small support can turn his dream into reality. Monthly expense will be around Rs. 4700/-including hostel charge, tuition fee, books and other college fees. We request support to his education. Roshan Kharka's village is 35 km away from the college in Baksa district, Assam. (Due to the distance he will study while staying at hostel)

## Detail expenditure of education – Commerce

Particular	Details	Amount
Books	One time	4000.00
Uniform	2 sets @ Rs. 2000/ each	4000.00
Admission fee	One time	6000.00
Monthly fee	Rs. 500/- X 10 month	5000.00
Tuition fee	2 subject 6 month @Rs. 2000/- each subject	24000.00
Magazine (with Q/A) related to education	Local and National	1470.00
Hostel fee	Rs. 1200/- each month X 10	12000.00
Total amount -		56470.00